Science in China Series A: Mathematics Jun., 2008, Vol. 51, No. 6, 1127–1134 www.scichina.com math.scichina.com www.springerlink.com



# On mean curvatures in submanifolds geometry

#### GE JianQuan

Department of Mathematical Sciences, Tsinghua University, Beijing 100084, China (email: gejq04@mails.tsinghua.edu.cn)

**Abstract** By using moving frame theory, first we introduce 2p-th mean curvatures and (2p + 1)-th mean curvature vector fields for a submanifold. We then give an integral expression of them that characterizes them as mean values of symmetric functions of principle curvatures. Next we apply it to derive directly the celebrated Weyl-Gray tube formula in terms of integrals of the 2p-th mean curvatures and some Minkowski-type integral formulas.

Keywords: moving frame, mean curvature, tube MSC(2000): 53A07, 53C42

# 1 Mean curvatures and integral expressions

Let  $f: M^n \to N^{n+m}$  be an isometric immersion of an *n*-dimensional submanifold M into an (n+m)-dimensional Riemannian manifold N. Around each point p in M, we take a local frame  $\{e_1, \ldots, e_{n+m}\}$  of N such that  $\{e_1, \ldots, e_n\}$  are orthonormal vectors tangent to M and  $\{e_{n+1}, \ldots, e_{n+m}\}$  are orthonormal vectors normal to M, and we let  $\omega_1, \ldots, \omega_{n+m}$  be the dual co-frame. Here we identify tangent vectors with its image under  $f_*$ . We assume the indices to be  $1 \leq i, j, k \leq n; n+1 \leq \alpha, \beta, \gamma \leq n+m; 1 \leq A, B, C \leq n+m; 1 \leq a, b, c \leq m, \bar{a} = n+a$ . Then the structure equations of N are given by

$$\begin{cases} d\omega_A = \sum_B \omega_{AB} \wedge \omega_B, \quad \omega_{AB} + \omega_{BA} = 0, \\ d\omega_{AB} = \sum_C \omega_{AC} \wedge \omega_{CB} - \Omega^N_{AB}. \end{cases}$$
(1.1)

If we restrict these forms on M, then  $\omega_{\alpha} = 0$ . Now we obtain the structure equations of M:

$$\begin{cases} d\omega_i = \sum_j \omega_{ij} \wedge \omega_j, \quad \omega_{ij} + \omega_{ji} = 0, \\ d\omega_{ij} = \sum_k \omega_{ik} \wedge \omega_{kj} - \Omega^M_{ij}. \end{cases}$$
(1.2)

From (1.1) and (1.2), we can see that

$$\Omega_{ij} =: \Omega_{ij}^M - \Omega_{ij}^N = \sum_{\alpha} \omega_{i\alpha} \wedge \omega_{j\alpha}.$$

Since  $0 = d\omega_{\alpha} = -\sum_{i} \omega_{i\alpha} \wedge \omega_{i}$ , by Cartan's lemma we can write  $\omega_{i\alpha} = \sum_{j} h_{ij}^{\alpha} \omega_{j}$ ,  $h_{ij}^{\alpha} = h_{ji}^{\alpha}$ . The matrices  $(\omega_{AB}), (\omega_{ij}), (\Omega_{AB}^{N}), (\Omega_{ij}^{M})$  are the connection forms and curvature forms of N,

Received June 18, 2007; accepted August 28, 2007

DOI: 10.1007/s11425-007-0182-5

This work was partially supported by the National Natural Science Foundation of China (Grant No. 107010007)

*M* respectively. The matrix  $(\Omega_{ij})$  is called the relative curvature form of the immersion *f* and  $h = \sum_{\alpha,i,j} h_{ij}^{\alpha} \omega_i \omega_j e_{\alpha}$  is the second fundamental form of the immersion *f*.

Letting  $I_k = (i_1, \ldots, i_k)$  be k integers in  $\{1, \ldots, n\}, 0 \leq p \leq \lfloor \frac{n}{2} \rfloor$ , we define

$$\Omega(I_{2p}) =: \frac{1}{(2p)!} \sum_{J_{2p}} \delta_{i_1,\dots,i_{2p}}^{j_1,\dots,j_{2p}} \Omega_{j_1j_2} \wedge \dots \wedge \Omega_{j_{2p-1}j_{2p}}, 
\Omega^{\alpha}(I_{2p+1}) =: \frac{1}{(2p+1)!} \sum_{J_{2p+1}} \delta_{i_1,\dots,i_{2p+1}}^{j_1,\dots,j_{2p+1}} \Omega_{j_1j_2} \wedge \dots \wedge \Omega_{j_{2p-1}j_{2p}} \wedge \omega_{j_{2p+1}\alpha}, 
K_{2p}^f =: \frac{1}{\binom{n}{(2p)!}} \sum_{I_{2p}} \Omega(I_{2p})(e_{i_1},\dots,e_{i_{2p}}), \qquad (K_0^f =: 1), 
H_{2p+1}^f =: \frac{1}{\binom{n}{(2p+1)!}} \frac{1}{(2p+1)!} \sum_{\alpha} \sum_{I_{2p+1}} \Omega^{\alpha}(I_{2p+1})(e_{i_1},\dots,e_{i_{2p+1}})e_{\alpha} =: \sum_{\alpha} H_{2p+1}^{\alpha}e_{\alpha}, \quad (H_{n+1}^f =: 0), \end{aligned}$$

where the sums take over all selections of the indices and  $\delta_{i_1,...,i_k}^{j_1,...,j_k} = \det((\delta_{i_s j_t}))$  is the generalized Kronecker symbol.

Since by a change of local frame:  $e'_i = \sum_j a_{ij} e_j$ ,  $e'_{\alpha} = \sum_{\beta} a_{\alpha\beta} e_{\beta}$ ,  $\sum_k a_{ik} a_{jk} = \delta_{ij}$ ,  $\sum_{\gamma} a_{\alpha\gamma} a_{\beta\gamma} = \delta_{\alpha\beta}$ ; we know from (1.1) and (1.2) the corresponding connection and curvature forms change as:  $\omega'_{i\alpha} = \sum_{j\beta} a_{ij} a_{\alpha\beta} \omega_{j\beta}$ ,  $\Omega'_{ij} = \sum_{k,l} a_{ik} a_{jl} \Omega_{kl}$ . Thus we can easily find that  $K^f_{2p}$ ,  $H^f_{2p+1}$  are independent of the choice of the local frame, so they define respectively a sequence of functions and normal vector fields on M, called 2p-th mean curvature and (2p + 1)-th mean curvature vector field of f. Besides [1, 2], recently there are several studies about them and related variational problems, such as [3, 4], where the authors defined them assuming the ambient manifold N to be of constant sectional curvature.

**Remark 1.1.** Note that  $H_1^f$  is just the usually mean curvature vector field  $H_1$ . When M is a hypersurface with unit normal vector field  $\nu$ , then  $K_{2p}^f$  and  $\langle H_{2p+1}^f, \nu \rangle$  are just the usually k-th mean curvatures.

**Remark 1.2.** Note that if we define  $K_{2p}^f$  by  $\Omega_{ij}^M$  instead of  $\Omega_{ij}$ , then they are just the 2*p*-th normalized scalar curvature  $K_{2p}^M$  in the sense of [5]. They are defined only by curvature forms of M and thus are intrinsic, i.e. depend only on the Riemannian metric of M. For example,  $K_2^M$  is just the normalized scalar curvature, when n is even,  $K_n^M$  is just the Lipschitz-Killing curvature. When the ambient manifold N is of constant sectional curvature  $\lambda$ , i.e.  $\Omega_{AB}^N = \lambda \omega_A \wedge \omega_B$ ,  $\Omega_{ij} = \Omega_{ij}^M - \lambda \omega_i \wedge \omega_j$ , then  $K_{2p}^f = \sum_{k=0}^P (-\lambda)^{p-k} {P \choose k} K_{2k}^M$  and thus they are intrinsic. In this case, we write  $K_{2p}^\lambda$  instead of  $K_{2p}^f$  and define  $S_{2p}^\lambda(M) = \int_M K_{2p}^\lambda dV_M$ .

Now we prepare two important integral formulas over a unit sphere whose first one was given in matrix form in [6].

## Lemma 1.3.

$$\int_{S^{m-1}(1)} \left(\sum_{a} x_a \omega_{i_1 \bar{a}}\right) \wedge \dots \wedge \left(\sum_{a} x_a \omega_{i_k \bar{a}}\right) dx = \begin{cases} \frac{C_{m+2p-1}}{2^{2p} \pi^p p!} k! \Omega(I_k), & k=2p; \\ 0, & k=2p+1, \end{cases}$$
(1.3)

$$\int_{S^{m-1}(1)} x_b \left( \sum_a x_a \omega_{i_1 \bar{a}} \right) \wedge \dots \wedge \left( \sum_a x_a \omega_{i_k \bar{a}} \right) dx = \begin{cases} \frac{C_{m+2p-1}}{2^{2p} \pi^p p!} \frac{k!}{m+2p} \Omega^{\bar{b}}(I_k), & k=2p+1; \\ 0, & k=2p. \end{cases}$$
(1.4)

1128

where  $(x_1, \ldots, x_m)$  is the coordinate and dx is the volume element of  $S^{m-1}(1)$ ,  $C_{m+2p-1} = \frac{2\pi^{\frac{m+2p}{2}}}{\Gamma(\frac{m+2p}{2})}$  is the volume of  $S^{m+2p-1}(1)$ .

*Proof.* The proof is similar to that of [6] (see also [7]), so we just give a brief proof of the second formula.

By the symmetry of sphere, the zero case is obvious. It suffices to prove the case when k = 2p + 1. For  $I_k = (i_1, \ldots, i_k)$  and  $T_k = (\tau_1, \ldots, \tau_m)$  with  $\sum_a \tau_a = k$ , we put

$$P_{I_k}(T_k) =: \left(\bigwedge_{s=1}^{\tau_1} \omega_{i_s \bar{1}}\right) \wedge \dots \wedge \left(\bigwedge_{s=k-\tau_m+1}^k \omega_{i_s \bar{m}}\right).$$

Then it is clear that

$$\begin{split} LHS &= \int_{S^{m-1}(1)} x_b \frac{1}{k!} \sum_{J_k} \delta^{i_1, \dots, i_k}_{j_1, \dots, j_k} \left( \sum_a x_a \omega_{j_1 \bar{a}} \right) \wedge \dots \wedge \left( \sum_a x_a \omega_{j_k \bar{a}} \right) dx \\ &= \int_{S^{m-1}(1)} \left\{ x_b \frac{1}{k!} \sum_{T_k = (2\lambda_1, \dots, 2\lambda_b + 1, \dots, 2\lambda_m)} x_1^{\tau_1} \cdots x_m^{\tau_m} \frac{k!}{\tau_1! \cdots \tau_m!} \sum_{J_k} \delta^{i_1, \dots, i_k}_{j_1, \dots, j_k} P_{J_k}(T_k) + \delta \right\} dx \\ &= \sum_{T_k = (2\lambda_1, \dots, 2\lambda_b + 1, \dots, 2\lambda_m)} \sum_{J_k} \delta^{i_1, \dots, i_k}_{j_1, \dots, j_k} P_{J_k}(T_k) \frac{\int_{S^{m-1}(1)} x_b x_1^{\tau_1} \cdots x_m^{\tau_m} dx}{\tau_1! \cdots \tau_m!} \\ &= \sum_{T_k = (2\lambda_1, \dots, 2\lambda_b + 1, \dots, 2\lambda_m)} \sum_{J_k} \delta^{i_1, \dots, i_k}_{j_1, \dots, j_k} P_{J_k}(T_k) \frac{1}{\lambda_1! \cdots \lambda_m!} \frac{C_{m+2p-1}}{2^{2p} \pi^p (m+2p)}, \end{split}$$

where  $\delta$  contains the terms with some  $x_a$  having odd order and so integrates to zero, the last equality has applied the moments formula (see [8]) for  $(a_1, \ldots, a_m)$  with  $\sum_b a_b = p + 1$ :

$$\begin{split} \int_{S^{m-1}(1)} x_1^{2a_1} \cdots x_m^{2a_m} dx &= \frac{(2a_1 - 1)!! \cdots (2a_m - 1)!!}{m(m+2) \cdots (m+2p)} C_{m-1}.\\ RHS &= \frac{C_{m+2p-1}}{2^{2p} \pi^p p!} \frac{1}{m+2p} \sum_{J_k} \delta^{i_1, \dots, i_k}_{j_1, \dots, j_k} \Omega_{j_1 j_2} \wedge \dots \wedge \Omega_{j_{2p-1} j_{2p}} \wedge \omega_{j_k \alpha}\\ &= \frac{C_{m+2p-1}}{2^{2p} \pi^p p!} \frac{1}{m+2p} \sum_{J_k} \delta^{i_1, \dots, i_k}_{j_1, \dots, j_k} \left(\sum_a \omega_{j_1 \overline{a}} \omega_{j_2 \overline{a}}\right) \wedge \dots \wedge \left(\sum_a \omega_{j_{2p-1} \overline{a}} \omega_{j_{2p} \overline{a}}\right) \omega_{j_k \overline{b}}\\ &= \frac{C_{m+2p-1}}{2^{2p} \pi^p p!} \frac{1}{m+2p} \sum_{J_k} \delta^{i_1, \dots, i_k}_{j_1, \dots, j_k} \sum_{T_{2p} = (2\lambda_1, \dots, 2\lambda_m)} \frac{p!}{\lambda_1! \cdots \lambda_m!} P_{J_{2p}}(T_{2p}) \omega_{j_k \overline{b}}\\ &= \sum_{T_k = (2\lambda_1, \dots, 2\lambda_b + 1, \dots, 2\lambda_m)} \sum_{J_k} \delta^{i_1, \dots, i_k}_{j_1, \dots, j_k} P_{J_k}(T_k) \frac{1}{\lambda_1! \cdots \lambda_m!} \frac{C_{m+2p-1}}{2^{2p} \pi^p (m+2p)}. \end{split}$$

The proof is now complete.

Let  $\{u_1(x), \ldots, u_n(x)\}$  be the *n* (real) eigenvalues of the real matrix  $(\sum_a x_a h_{ij}^{\bar{a}}) = (\sum_a x_a \omega_{i\bar{a}}(e_j))$ , i.e. they are the principle curvatures with respect to the shape operator  $A_{v(x)}$  where  $v(x) = \sum_a x_a e_{\bar{a}}$ . The normalized symmetric functions are defined by

$$\prod_{i=1}^{n} (1 + t u_i(x)) = \sum_{k=0}^{n} \binom{n}{k} M_k(x) t^k.$$

Taking values on  $(e_{i_1}, \ldots, e_{i_k})$  in both sides of the preceding lemma and summing over all distinct selections of the indices, we can get the following integral expressions of the 2*p*-th mean curvatures and the (2p + 1)-th mean curvature vector fields:

**Theorem 1.4.** Notations as above,

$$\int_{S^{m-1}(1)} M_k(x) dx = \begin{cases} \frac{C_{m+2p-1}}{2^{2p} \pi^p p!} k! K_k^f, & k = 2p; \\ 0, & k = 2p+1, \end{cases}$$
$$\int_{S^{m-1}(1)} v(x) M_k(x) dx = \begin{cases} \frac{C_{m+2p-1}}{2^{2p} \pi^p p!} \frac{k!}{m+2p} H_k^f, & k = 2p+1; \\ 0, & k = 2p. \end{cases}$$

**Remark 1.5.** Comparing the case when M is a hypersurface, these two formulas allow us to name  $K_{2p}^f$ ,  $H_{2p+1}^f$  the mean curvatures logically. When k = n is even, the first formula can be applied to prove directly a theorem of Chern and a theorem of Lashof and Smale (see [6]). Using the Newton's inequality and formulas above, we can easily find that  $K_2^f \leq |H_1^f|^2$  which can be also derived by Gauss equation and Cauchy inequality.

If  $K_2^f > 0$ , then from the above remark we can know that  $H_1^f$  is a nowhere vanishing normal vector field. This implies the following

**Corollary 1.6.** When  $M^n$  is an immersed compact oriented submanifold of  $N^{2n}$  such that  $K_2^f > 0$ , and if the tangent bundle is isomorphic to the normal bundle, then the Euler characteristic of M is zero.

The following standard embeddings

$$S^3 \hookrightarrow \mathbb{R}^4 \hookrightarrow \mathbb{R}^6, \quad S^2 \times S^1 \times S^1 \hookrightarrow \mathbb{R}^3 \times \mathbb{R}^2 \times \mathbb{R}^2 \hookrightarrow \mathbb{R}^8$$

have positive (relative) scalar curvature and their tangent bundles and normal bundles are easily seen to be trivial and thus are isomorphic. Meanwhile, from this corollary we can see that every even dimensional whitney sphere  $S^{2n}$  lagrangian immersed in  $\mathbb{R}^{4n}$  must have its scalar curvature nonpositive somewhere.

#### 2 Applications to submanifolds of real space forms

In this section we will apply the integral expressions of mean curvatures to derive directly the celebrated Weyl-Gray tube formula and some Minkowski-type integral formulas for submanifolds of the real space forms.

The Weyl-Gray tube formula calculates the volume of a tube of small radius r around a submanifold in the real space forms, which was given first by Weyl<sup>[8]</sup> for the Euclidean and Spherical cases and then by Gray<sup>[9]</sup> (see also [10]) for the general case. By using moving frame theory and the integral expressions of the 2*p*-th mean curvatures, we can give a simple proof of it with its coefficients being integrals of the 2*p*-th mean curvatures and thus the intrinsic property of the coefficients is obvious by Remark 1.2. Since any two simply connected complete Riemannian manifolds of constant sectional curvature  $\lambda$  are isometric to each other, we need only to prove the formula in the three standard space forms  $\mathbb{R}^n(\lambda)$  defined as follows (see [11]):  $\mathbb{R}^n(0)$  is just the Euclidean space  $\mathbb{R}^n$  with flat metric:  $g_0 = dx_1^2 + \cdots + dx_n^2$ .

For  $\lambda \neq 0$ ,  $\mathbb{R}^n(\lambda) = \{x = (x_1, \cdots, x_{n+1}) \in \mathbb{R}^{n+1} | |x|^2 = \frac{1}{\lambda}, x_{n+1} \ge \frac{-\operatorname{sgn}\lambda}{\sqrt{|\lambda|}}\}$ , where the norm  $|\cdot|$  is defined by the metric:  $g_{\lambda} = dx_1^2 + \cdots + dx_n^2 + \operatorname{sgn}\lambda dx_{n+1}^2$ .

1130

The Riemannian connection induced by  $g_{\lambda}$  on  $\mathbb{R}^{n+1}$  is the ordinary Euclidean connection, and the metric induced on  $\mathbb{R}^{n}(\lambda)$  is complete and of constant curvature  $\lambda$ .

Let  $f: M^n \to \mathbb{R}^{n+m}(\lambda)$  be an isometric immersion. Choosing a local frame  $\{e_1, \ldots, e_{n+m}\}$ on  $\mathbb{R}^{n+m}(\lambda)$  as in Section 1, then the structure equations are given by (1.1) and (1.2) and the moving equations are given by

$$\begin{cases} df = \sum_{i} \omega_{i} e_{i}, \\ De_{A} = \sum_{B} \omega_{AB} e_{B}, \end{cases}$$
(2.1)

where D denotes the covariant derivation of the Levi-Civita connection on  $\mathbb{R}^n(\lambda)$ .

Denoting by  $S\nu$  the unit normal sphere bundle of f, the tubular hypersurface M(r) and (when f is an embedding) the tube  $\tilde{M}(r)$  of small radius r can be characterized by

$$f_r: \quad S\nu \longrightarrow M(r) \subset \mathbb{R}^{n+m}(\lambda),$$
  

$$(p,v) \longmapsto \cos(r\sqrt{\lambda})f(p) + \frac{\sin(r\sqrt{\lambda})}{\sqrt{\lambda}}v,$$
  

$$\tilde{f}: \quad S\nu \times [0,r] \longrightarrow \tilde{M}(r) \subset \mathbb{R}^{n+m}(\lambda),$$
(2.2)

$$(p,v), \quad t \quad \longmapsto \cos(t\sqrt{\lambda})f(p) + \frac{\sin(t\sqrt{\lambda})}{\sqrt{\lambda}}v,$$
 (2.3)

where  $\cos(z) = \frac{e^{\sqrt{-1}z} + e^{-\sqrt{-1}z}}{2}$ ,  $\sin(z) = \frac{e^{\sqrt{-1}z} - e^{-\sqrt{-1}z}}{2\sqrt{-1}}$ , and for  $\lambda = 0$ ,  $\frac{\sin(t\sqrt{\lambda})}{\sqrt{\lambda}} = t$ . In fact, since  $g_{\lambda}(q, X) = 0$  for any  $X \in T_q \mathbb{R}^{n+m}(\lambda), (\lambda \neq 0), \ \tilde{f}_{(p,v)}(t) = \tilde{f}((p,v), t)$  is the

geodesic along v at p in  $\mathbb{R}^{n+m}(\lambda)$ . The unit normal vector field of M(r) in  $\mathbb{R}^{n+m}(\lambda)$  is

$$v(r) = -\sqrt{\lambda}\sin(r\sqrt{\lambda})f + \cos(r\sqrt{\lambda})v.$$
(2.4)

We can assume that  $v = \sum_a x_a e_{\bar{a}}$  with  $x = (x_1, \ldots, x_m) \in S^{m-1}(1)$ . Choosing another local normal frame  $\{v_1, \ldots, v_m\}$  such that  $v_m = v$ , as in (2.1) we have

$$Dv_m = \sum_i -\theta_{im}e_i + \sum_b \theta_{mb}v_b, \quad \theta_{im} = \sum_a x_a\omega_{i\bar{a}}.$$
(2.5)

Taking differentials of (2.2)–(2.4), from (2.1), (2.5) we can get

$$df_r = \sum_i \left( \cos(r\sqrt{\lambda})\omega_i - \frac{\sin(r\sqrt{\lambda})}{\sqrt{\lambda}} \sum_a x_a \omega_{i\bar{a}} \right) e_i + \frac{\sin(r\sqrt{\lambda})}{\sqrt{\lambda}} \sum_a \theta_{ma} v_a, \tag{2.6}$$

$$d\tilde{f} = df_t + dt v(t), \tag{2.7}$$

$$dv(r) = \sum_{i} \left( -\sqrt{\lambda} \sin(r\sqrt{\lambda})\omega_{i} - \cos(r\sqrt{\lambda}) \sum_{a} x_{a}\omega_{i\bar{a}} \right) e_{i} + \cos(r\sqrt{\lambda}) \sum_{a} \theta_{ma} v_{a}.$$
 (2.8)

Letting  $s = s(r) =: \frac{\sin(r\sqrt{\lambda})}{\cos(r\sqrt{\lambda})\sqrt{\lambda}}$ , from (2.6), (2.8), we can get the principle curvatures of the tubular hypersurface M(r) with respect to v(r),

$$\kappa_i = \frac{\lambda s + u_i(x)}{1 - su_i(x)}, \quad \kappa_\alpha = -\frac{1}{s}, \quad 1 \le i \le n, \quad n+1 \le \alpha \le n+m-1.$$
(2.9)

The volume element of M(r) is easily computed from (2.6) as

$$dV_r = (\cos(r\sqrt{\lambda}))^n \left(\frac{\sin(r\sqrt{\lambda})}{\sqrt{\lambda}}\right)^{m-1} \bigwedge_i \left(\omega_i - s\sum_a x_a \omega_{i\bar{a}}\right) \wedge \left(\bigwedge_{a=1}^{m-1} \theta_{ma}\right).$$
(2.10)

Since  $\bigwedge_{a=1}^{m-1} \theta_{ma} = dx + \Box$ , (see [12]), where  $\Box$  will vanish when restricted to a fibre, we get from (2.7), (2.10) the volume element of  $M(r), \tilde{M}(r)$ :

$$dV_r = (\cos(r\sqrt{\lambda}))^n \left(\frac{\sin(r\sqrt{\lambda})}{\sqrt{\lambda}}\right)^{m-1} \bigwedge_i \left(\omega_i - s\sum_a x_a \omega_{i\bar{a}}\right) \wedge dx, \tag{2.11}$$

$$d\tilde{V} = (\cos(t\sqrt{\lambda}))^n \left(\frac{\sin(t\sqrt{\lambda})}{\sqrt{\lambda}}\right)^{m-1} \bigwedge_i \left(\omega_i - s(t)\sum_a x_a \omega_{i\bar{a}}\right) \wedge dx \wedge dt.$$
(2.12)

Now we can calculate the volume of the tube directly by (1.3), (2.11), (2.12).

**Theorem 2.1.** Suppose that  $M^n$  is an isometric embedded n-dimensional submanifold with compact closure in an n + m-dimensional manifold  $\mathbb{K}^{n+m}(\lambda)$  with constant sectional curvature  $\lambda$ . Then for small r, we have

$$V(\tilde{M}(r)) = \sum_{p=0}^{\left[\frac{n}{2}\right]} \frac{C_{m+2p-1}}{2^{2p} \pi^p p!} {}^{\binom{n}{2p}} (2p)! S_{2p}^{\lambda}(M) \int_0^r (\cos(t\sqrt{\lambda}))^{n-2p} \left(\frac{\sin(t\sqrt{\lambda})}{\sqrt{\lambda}}\right)^{m+2p-1} dt$$

*Proof.* It suffices to integrate (2.12) over  $\tilde{M}(r)$ .

Let  $\mathfrak{S}_n$  be the permutation group of  $(1, \ldots, n)$ ,  $\mathfrak{S}_{k,n} = \{I = (i_1, \ldots, i_n) \in \mathfrak{S}_n | 1 \leq i_1 < \cdots < i_k \leq n, 1 \leq i_{k+1} < \cdots < i_n \leq n\}$ . It follows from (1.3) that

$$\begin{split} &\int_{S^{m-1}(1)} \bigwedge_{i} (\omega_{i} - s \sum_{a} x_{a} \omega_{i\bar{a}}) \wedge dx \\ &= \sum_{p=0}^{\left[\frac{n}{2}\right]} s^{2p} \sum_{I \in \mathfrak{S}_{2p,n}} \delta(I) \bigg\{ \int_{S^{m-1}(1)} \bigg( \sum_{a} x_{a} \omega_{i_{1}\bar{a}} \bigg) \wedge \dots \wedge \bigg( \sum_{a} x_{a} \omega_{i_{2p}\bar{a}} \bigg) dx \bigg\} \wedge (\omega_{i_{2p+1}} \wedge \dots \wedge \omega_{i_{n}}) \\ &= \sum_{p=0}^{\left[\frac{n}{2}\right]} s^{2p} \sum_{I \in \mathfrak{S}_{2p,n}} \frac{C_{m+2p-1}}{2^{2p} \pi^{p} p!} (2p)! \Omega(I_{2p}) (e_{i_{1}}, \dots, e_{i_{2p}}) dV_{M} \\ &= \sum_{p=0}^{\left[\frac{n}{2}\right]} s^{2p} \frac{C_{m+2p-1}}{2^{2p} \pi^{p} p!} (2p)! \bigg( \binom{n}{2p} K_{2p}^{\lambda} dV_{M}. \end{split}$$

Recalling the definition of  $S_{2p}^{\lambda}(M)$ , we have completed the proof.

**Remark 2.2.** We can find that the coefficients  $S_{2p}^{\lambda}(M)$  are related to Weyl-Gray's  $k_{2p}(R^M - R^{\mathbb{K}^{n+m}(\lambda)})$  (see [9]) by  $S_{2p}^{\lambda}(M) = \frac{2^p p!}{\binom{2p}{2p}(2p)!} k_{2p}(R^M - R^{\mathbb{K}^{n+m}(\lambda)}).$ 

Now we apply the integral expressions of mean curvatures to prove the following Minkowskitype integral formulas for submanifolds in space forms, where the first formula was given in [2] and the second formula for the case of  $\lambda \neq 0$  appears in [4] as a corollary of an application of the  $L_r$  operator.

**Theorem 2.3.** Let  $f: M^n \to \mathbb{R}^{n+m}(\lambda)$  be an isometric immersion of a compact orientable *n*-dimensional submanifold into the real space form  $\mathbb{R}^{n+m}(\lambda)$ , let  $\langle \cdot, \cdot \rangle$  denote the metric  $g_{\lambda}$ . Then we have for  $0 \leq p \leq [\frac{n-1}{2}]$ ,

(1) for 
$$\lambda = 0$$
, 
$$\int_{M} (\langle H_{2p+1}^{f}, f \rangle + K_{2p}^{\lambda}) \, dV_{M} = 0;$$

(2) 
$$\forall \lambda, \forall \xi \in \mathbb{R}^{n+m+1}, \quad \int_{M} (\langle H_{2p+1}^{f}, \xi \rangle - \lambda K_{2p}^{\lambda} \langle f, \xi \rangle) \, dV_{M} = 0.$$

1132

On mean curvatures in submanifolds geometry

**Remark 2.4.** As in Remark 1.2, if we define  $H_{2p+1}^f$  by  $\Omega_{ij}^M$  instead of  $\Omega_{ij}$ , they are also welldefined normal vector fields over M, denoted as  $H_{2p+1}^M$ . Then these formulas are also correct when  $H_{2p+1}^f$ ,  $K_{2p}^{\lambda}$  are replaced by  $H_{2p+1}^M$ ,  $K_{2p}^M$  respectively.

*Proof.* (1) Let  $\psi : \Sigma \to \mathbb{R}^{n+m}$  be an immersed compact orientable hypersurface with unit normal vector field  $\mathcal{N}$  and mean curvature H, let  $\Delta$  denote the Laplacian of  $\Sigma$ . We can easily compute that  $\Delta |\psi|^2 = 2(n+m-1)(1+H\langle\psi,\mathcal{N}\rangle)$ , which implies

$$\int_{\Sigma} (1 + H \langle \psi, \mathcal{N} \rangle) \, dV_{\Sigma} = 0.$$
(2.13)

Now for small r, we know from (2.11) that the tubular hypersurface M(r) of M is an immersed compact orientable hypersurface of  $\mathbb{R}^{n+m}$ . Its volume element is

$$dV_r = P(r) \ dV_M \ dx; \quad P(r) = \prod_i (1 - ru_i(x)) \ r^{m-1}.$$
 (2.14)

Its unit normal vector field is v(r) given by (2.4), the corresponding mean curvature can be got from (2.9)

$$H(r) = \frac{1}{n+m-1} \left( \sum_{i} \frac{u_i(x)}{1 - ru_i(x)} - \frac{m-1}{r} \right) = \frac{-1}{n+m-1} \frac{P'(r)}{P(r)}.$$
 (2.15)

Substituting (2.2), (2.4), (2.14), (2.15) into (2.13), we have

$$\int_{M} \int_{S^{m-1}(1)} \left\{ -P'(r) \left\langle f, \sum_{b} x_{b} e_{\bar{b}} \right\rangle + \left[ (n+m-1)P(r) - rP'(r) \right] \right\} dx dV_{M} = 0.$$
(2.16)

Integrating (2.16) over  $S^{m-1}(1)$  by applying Theorem 1.4 and comparing the coefficients of  $r^{m+2p-1}$ , we can get the formula of (1).

(2) Let  $\psi : \Sigma \to \mathbb{R}^{n+m}(\lambda)$  be an immersed compact orientable hypersurface,  $\xi$  be a fixed vector in  $\mathbb{R}^{n+m+1}$ . Then by a straightforward computation, we can get  $\Delta \langle \psi, \xi \rangle = (n+m-1)(H\langle \mathcal{N}, \xi \rangle - \lambda \langle \psi, \xi \rangle)$ , and thus

$$\int_{\Sigma} \left( H \left\langle \mathcal{N}, \xi \right\rangle - \lambda \left\langle \psi, \xi \right\rangle \right) \, dV_{\Sigma} = 0.$$
(2.17)

As in (1), we can apply formula (2.17) to M(r). From (2.11), its volume element is

$$dV_r = (\cos(r\sqrt{\lambda}))^{n+m-1}P(s) \ dV_M dx.$$
(2.18)

The unit normal vector field is still given by (2.4), the corresponding mean curvature can be got from (2.9)

$$H(r) = \frac{1}{n+m-1} \left( \sum_{i} \frac{\lambda s + u_i(x)}{1 - su_i(x)} - \frac{m-1}{s} \right)$$
$$= \frac{\lambda(n+m-1)\cos(r\sqrt{\lambda})^2 s P(s) - P'(s)}{(n+m-1)\cos(r\sqrt{\lambda})^2 P(s)}.$$
(2.19)

Substituting (2.2), (2.4), (2.18), (2.19) into (2.17), we have

$$\int_{M} \int_{S^{m-1}(1)} \left\{ -P'(s) \left\langle \sum_{b} x_{b} e_{\bar{b}}, \xi \right\rangle - \lambda \left[ (n+m-1)P(s) - sP'(s) \right] \left\langle f, \xi \right\rangle \right\} dx dV_{M} = 0.$$
(2.20)

Then as in (2.16), integrating (2.20) over  $S^{m-1}(1)$  and comparing the coefficients of  $s^{m+2p-1}$ , we can get the formula of (2).

**Remark 2.5.** Recall Remark 1.1, when the codimension is 1, Theorem 2.3 reduces to a "half" of the Minkowski-type integral formulas of hypersurface. The other "half" can also be obtained by this method if one only integrates (2.13), (2.17) over the upper tubular hypersurface (see [13], where they use these formulas successfully in proving the well-known Aleksandroff-Reilly-Ros theorem).

Given any fixed  $\xi \in \mathbb{R}^{n+1}$ , let  $D_{\xi}$  denote the open half space of  $\mathbb{R}^{n}(\lambda)$  in the direction of  $\xi$ , i.e.  $D_{\xi} = \{\eta \in \mathbb{R}^{n}(\lambda) | \langle \eta, \xi \rangle > 0 \}$ . Then it follows from Theorem 2.3 that

**Corollary 2.6.** There exist no compact minimal submanifolds immersed in any open half space of  $\mathbb{R}^n(\lambda)$ .

When  $K_{2p}^{\lambda}$  (resp.  $K_{2p}^{M}$ ) is nonzero and nonnegative, the preceding assertion is also correct for 2*p*-minimal submanifolds, where 2*p*-minimal was defined in [4] as  $H_{2p+1}^{f} = 0$  (resp. in [14] as  $H_{2p+1}^{M} = 0$ ).

**Acknowledgements** It is a great pleasure to thank Professors Peng Chiakuei and Tang Zizhou for their consistent encouragements and helpful discussions, and for their careful revision of an earlier version of this paper. Many thanks as well to Professors Li Haizhong and Ma Hui for their interests and encouragements.

### References

- Reilly R. Variation properties of functions of the mean curvatures for hypersurfaces in space forms. J Differential Geom, 8: 465–477 (1973)
- 2 Reilly R. On the first eigenvalue of the Laplacian for compact submanifolds of Euclidean space. Comment Math Helv, 52: 525–533 (1977)
- 3 Grosjean J F. Upper bounds for the first eigenvalue of the Laplacian on compact submanifolds. Pacific J Math, 206: 93–112 (2002)
- 4 Cao L F, Li H Z. r-minimal submanifolds in space forms. Ann Global Anal Geom, 32: 311–341 (2007)
- 5 Thorpe J A. Sectional curvatures and characteristic classes. Ann of Math, 80: 429-443 (1964)
- 6 Ge J Q, Tang Z Z. An integral formula and its application to normal Euler number. *Internat J Math* (In press)
- 7 Chern S S. On the curvature integra in a Riemannian manifold. Ann of Math, 46: 674-684 (1945)
- 8 Weyl H. On the volume of tubes. Amer J Math, 61: 461–472 (1939)
- 9 Gray A. Progress in Mathematics, Vol. 221. Tubes, 2nd ed. Basel-Boston-Berlin: Birkhäuser Verlag, 2004
- 10 Chen W H. The volume of tubes in spaces of constant curvature (in Chinese). Acta Math Sinica, 31(2): 164–171 (1988)
- 11 Chen B Y. Geometry of Submanifolds. New York: Marcel Dekker Inc, 1973
- 12 Chern S S, Lashof R. On the total curvature of immersed manifolds. Amer J Math Soc, 79: 306–318 (1957)
- 13 Montiel S, Ros A. Compact hypersurfaces: the Alexandrov theorem for higher order mean curvatures. In: Pitman Monogr, eds. Differential Geometry. Surveys Pure Appl Math, Vol. 52. Harlow: Longman Sci Tech, 1991, 279–296
- 14 Li A M. First and second variation of the Killing invariants (in Chinese). Acta Math Sinica, 28: 154–160 (1985)